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(¢) What is non-inductive coil?
(f) What do you mean by magnetic susceptibility?

~ (2) Why self-induction is analogous to inertia?

ite the differential form of Gauss’ Law in electrostatics. From this, establish the integral form.
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' thg initial and final points. 3+3+(1+3)

Or,
[For 2018-19 Syllabus]

‘to a potential of 1000 volt. If the capacitance of the conductor be 10 pF,
stored in the conductor.
o

of two circular parallel metal plates, each of radius 10 cm, separated by a
w air lll uF unit. 2+4+4

ch;rges are changed, keeping the distance between them same, will
on t};e dlpole moment?
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5. (a) State Ampere’s Circuital Law.

(b) Using Ampere’s Circuital Law, find the magnetic field generated due to a long straight current
~ carrying conductor,

distnnce of 10 cm and at an angular position 30° from a magnetic dipole, the magnitude of
magnetic field is 0.01 Tesla. What is the magnitude of the dipole moment?

g, stralght and parallel wires P and Q are carrying 30 amp and 40 amp current respectively
dlrecti'qn. If the distance between them is 10 cm, then what will be the force on
P wire due to Q?
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1 between self-induction and mutual induction. What are their practical units?
12 is held in a uniform field of 2x10-37, the direction of the field being at right

1
e field is removed in 100 second, what will be the value of e.m.f. induced

I gtual inductance of two co-axial coils. (1+1)+4+4
; Or,

~ [For 2018-19 Syllabus)

edance of a series LCR a.c. circuit. Mention the condition of resonance
sion for resonant frequency. 1+1+2

in its significance. 1+2
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